solving logs with exponents.notebook March 15, 2017

Solving Logs (logarithmic Functions)
with Exponents

1)Do #4-6 on SAT Practice.
2)Let's Go over the hw.

3)Mixed Review

)
)
)
4) Notes on solving Logs
5) little quiz (bigger quiz next class)
)

6) homework
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Algebra 2 Name
w2017 Kota Sof tware LLC. All rights resecrvoed .
A mixed review Date Block

Simplify. Your answer should contain only positive exponents.

1 I[Jy 5 (‘\_3},1)—1 2) (3_2)3 ) —y}

Solve each equation.

b

3) 27 =16 4) 5" =5"

Solve each equation. Round your answers to the nearest ten-thousandth.

5) e —3=-11

Expand each logarithm.

6) log, (x4 ,y)j 7) logg (c'\"(a . b)

Condense each expression to a single logarithm.

log g u 9) 2log, x—4log, y
2

8) Slog, w+

2017 Kuta Sefiware LLC Al rights reserved Made with Infinite Algebra 2.
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Algebra 2 Name
i 2017 Konuta Softwar ¢ LL C . Al rights res crved .
A mixed review Date Block

Simplify. Your answer should contain only positive exponents.

1 _r”y 5 (‘\_3},1)—1 2) (x2)3 ) —y}

1 —x"y !

yix’

Solve each equation.

3b

3) 27 =16 4) 5" =5"

14 4]

a

13] [3]

Solve each equation. Round your answers to the nearest ten-thousandth.

5) e —3=-11

0.2419

Expand each logarithm.

FEERY r eva-
6) log, (x ,y] 7) logg (c a b)
20log. x+Slog. y log,a log b
- e log, ¢+ |
. 2 2
Condense each expression to a single logarithm.
log g u 9) 2log, x—4log, y
8) Slog, w+
2 2
log, =
(s 0o —
log (w'Nu) S0
2017 Kuta Saeftw are LLC ANl tights res erved Made with Infinitedlgebra 2
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Name:

Date:

Topic:

Class:

Main Ideas/Questions

Notes/Examples

TYPEI: LOG=L0G

;[)gqamﬂlmwwwn& CONDENSE each logarithm.

@ Use the One-to-One Property: If log, m =log, n, then

@ SOLVE and CHECK FOR EXTRANEOUS SOLUTIONS.

1. logs (5x + 9) = logs (6x)

2, log, (1 -4n) = log, (2n +43)

3. logy (6 -3w) = logg (—2w)

5. 3:log; 4 = log;(4a - 8)

4. log(y+5)+log4 =log72

6. log, 68 —log, 4 = log,(3n + 11)

7. % -logg 25 = logg (23 - 4w)

8. log;(2p —5)=2-log; 6 -log; 4

& Gina Wilson {All Things Algebra), 2015
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Name: Date:
Topic: Class:
Main ldeas/Questions | Notes/Examples
Lnqanithmic Equatisns (D) | conpENsE each logarithm.
"PE': LOG.LOG ® Use the One-to-One Property: If log, m = log, n, then
(@) | SOLVE and CHECK FOR EXTRANEOUS SOLUTIONS.
1. logs(5x +9) = logs (6x) 2. log,(1—4n) =log, (2n + 43)
BX494 = ¥ [-4Yn = 2n+43
W';Xl/ l-len =43
-ln=42
/
3. logy(6 - 3w) =log, (-2w) 4. log(y +5)+1094 =log72
l-3W = -2w \Og ('j+6)"1l = log1Z
l Hyts) =12
ion! =12
B
l0gq (3-0-3) =gy (-2:C y
lonf-12) = loql-12)
5. 3-10g, 4 = log, (4a - 8) 6. log, 68— l0g, 4 = log,(3n +11)
l0gy3.43 = |09 (Ha-5) |934 l.'qg- = logy (Bn+1r)
t=Ha -2 1T =30+
12=Ho. b=3n
/ 2=n)”
7. 1 togg 25 = logg 23 4) 8. log,(2p-5) = 2100, 6 log, 4
2 - 2
(09, 26"2:10g, (23-4w) | 1095250 = (095 &
5= 23-4w 2()—5 =9
"B =H 20-H
%:W v/ /

Gino Wihon {All Things Mgebra). 2015
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9. log 4 (m”) =log, (18— 7m) 10. log 2+ log (k%) = log (k* +16)

TYPE 2: (1) | CONDENSE and ISOLATE the logarithm.

LOG = NUM BER @ ‘Write the equation in EXPONENTIAL FORM.

@ SOLVE and CHECK FOR EXTRANEOUS SOLUTIONS.

11. log,(x-4)=6 12, log;(4x+8)-7=-3
13. log(2x) +log(x-5)=2 14. 2-logx -log 4=2
15. logg(x +9) +logg x = 2 16. log(x-3) +log x=1

& Gina Wilson (All Things Algebra), 2015
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9. 109 4 (m?) =log, (18 - 7m) 10. log 2 +log (k) =log (i +16)
MmZ= (3-1m l0g 243 = 10g 1)
MmZ+Im -1 =0 22 =k 2+
(yl-ﬂ)%m;aj‘o e
” (4 )(ie-) =0
/m=-9] | [m=2]"
EI =
TYPE 2: (@ | CONDENSE and ISOLATE the togarithm.
I.OG = mmER @ Wrile the equation in EXPONENTIAL FORM.
SOLVE and CHECK FOR EXTRANEOUS SOLUTIONS.
11. 10g,(x- 4)= 6 12.100,{47+8)-7= -3
2% =x-4 log 3(1x+8) =4
b4 =X-3 24 = )48
3 = Ux+g

13 =y
138 . v

13. l0g(2x) + log(x-5)=2

14, 2-logx-log 4=2

(X+12)X-3) =0

>z

log (23x-5) =2 leg )_Elf‘ -7
% = 2x*-10X 02 = X2
0= 2x%-10%-160 m
D= 2UXZ-5x -50) Hoo=x*
- - = X&E-H00
072 X-10)(X45) 02 820 -2
=0 > X=20]v
15. log, x+9) +loggx = 2. 16. log(x-3) +log x=1
log o XFHaAR = 2 log x*-3x =1
¥ Z4a% = 30 0=X%-3X
Y'?._I.qsz- 320 0:)(2-3)(.-!0

o_ﬂx;qkﬁﬂ
el =2

Ghna Wikson (Al Things Algebral, 2015
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Name: Unit 7: Exponential & Logarithmic Functions

Date: Bell: Homework 6: Solving Logarithmic Equations

‘ ** This is a 2-page document! ** ‘

Directions: Solve each equation. Check for extraneous solutions.
1. log;(3x -11) = log; (25 - x) 2. log;(4n-7) =log; (-3n)

3. log, 75 = log, 3+10g,(2y —1) 4. 2-log m =log 36

5. |Og4 108 - I0g4 9= I0g4 (76{ - 9) 6. %'Iogs 64 — |og5 8+ |0,g5 p

7. log (w? +21) = log (10w) 8. log;(2x) +log,(x-7) = log, (4x)

& Gina Wilson (All Things Algebra), 2015
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Name:

Date: Bell:

March 15, 2017

Unit 7: Exponential & Logarithmic Functions

Homework 6: Solving Logarithmic Equations

F‘ This is a 2-page document! ** ‘

Directions: Solve each equation. Check for extraneous solutions.

1. logy(3x-11) =logz (25 - %) 2, log;(4n-7) =log, (-3x)
Bx-Il = 25-X 40 -1 -3
49X -1l =25 1=
4X =30 TR ]
X4 |V No Solution'
3. log, 7%= log, 3 +100,(2y - 1) 4. 2-log m=log 36
\0-32"15 = 105,_3&5 '3\ iagm"a- los 36
15 Tly-3 m*=3¢
18 :[05 m%3L=0
13 =y (M+DIm~d =0

m=e|v

=1

5. log, 108 —log, 9 = leg, (7a—9)
Iaj-] )__%3_ = |ng (1a-"q)
122 Ja-a
2l =a

e

G.%-Iog564=l0958+bgsp

|o¢35(a’+@’ = |055 2P

H=gp
il

7. log (w® +21) =log (10w)
W?24+2) = |DW
W2 oW 421 =p
(W-Tw-3)=0

V’{W=3 v

8. logy(2x)+l0gy{x-7) = log, (4x)
W(ﬂx&-ﬂ)} log 2(H43)

214y = Hx

IX% -8y =0

2x| x-4) =0
e

Ging Witon (All Things Algebra), 2015
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9. log, (2m® —14m*) -log, (2m) = log, 8 10. 2 log(x -3) = log 25

11. log;(2x-7)=4 12. logg(28k - 20)+15=18

13, Iogg(15—4n)—% 14. log, 4 +log, (¢-9) =5

15. 2.log, k = 4 16. logg (p* +15) =2

& Gina Wilson (All Things Algebra), 2015

10
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9. log,(2m° - 14m 10g4(2m) =l0g, 8
log 4(2'"34'2” )= logq 8
m*-m =3
m*-1m-8=0

(m-Ym+d =0
v [m=g] {@

10. 2.log(x-3)=1log 25
lo (x-3)"=10g 25
X2-lX ¥ =35
X2-(x -l =0
(X-|(X+2) =0

Ve p=1

11, log;(2x-7)-4
31=ax
8l = ax -1
88 =2Ax

[44=x] -

12. logy(28k ~20) +15=18
logg (A8K--20) = 3
ga:ggk-ao
512 =38k -a0
533 = 8K
[19=x|v

12 logy (15 4n)= 3

9% = 15-4n
3 =15-4n
-12= “4n

[3=n]~

14. log, 4 +log, (c -9) =5
1%2(%(:-5!)) =S
25 =4¢-30
22 =4c-306
L =4c

[Aze]

15. 2 logs k=4 16. logg (p* +15) =2
|D§.|L’.z="'| %2=P2+|5
L*q - k:’ b4 =P2+|5
25b=k?* Ha :Pz
O=k%2-25¢ O=p2-49
0=+ K-16) D =(p+1p-1)
=)= To=l[e=1

Gina 'Wisen (Al Things Aigebra), 2015

11
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quiz: On the little piece of paper

1) condense: |og,, 18+ 3-log;, 2

2) Solve for m: 2-log m =log 36

12
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